HSV de Goudkarper uit Zegge

Update 13-11-2023 BUITENWATER TOTAAL 2023
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—  |[LENGTEINCM 40 | 13 |[NAW 0 |NAW 0 | 62 | 12 [NAW| 15 | 0 | 45

2  [PUNTEN 3 5 |18|11 /18 11| 1| 6 | 18 | 4 |[11| 2

= |UITSCHAKELEN (GEBRUIK "X")

~ |[LENGTEINCM 150 | 189 [NAW| 93 | 53 | 49 | 136| 105 | NAW| 98 | 70 | 264

2  [PUNTEN 3 2|18/ 7| 9 10| 4|5 18| 6 | 8| 1

= |UITSCHAKELEN (GEBRUIK "X")

® |LENGTEINCM 61 | 0|30 o |58|30] 21 27/| 50| 44 |[NAW| 59

2  [PUNTEN 1 14 6|14 3|6 9| 8| 4 5 18| 2

= |UITSCHAKELEN (GEBRUIK "X")

< [LENGTEINCM 84 |[NAW| 67 | 59 |[NAW|NAW| 268 | 232| 28 | 153 | 166 | NAW

2  [PUNTEN 5 18| 6| 7 1818 1| 2| 8 4 | 3| 18

= |UITSCHAKELEN (GEBRUIK "X")

\n [LENGTEINCM 256 | 174| 51 | 54 |NAW| 49 | 209 72 | 56 | 178 | 149 289

2  [PUNTEN 2 5|10 9 18/11| 3|7 8 4 | 6| 1

= |UITSCHAKELEN (GEBRUIK "X")

© [LENGTEINCM 275 | 175| 36 | 92 | 78 | 113| 193 |NAW 64 | 218 | 324 290

2  |PUNTEN 3 6|11|8 9| 7|5 |18 10| 4] 1] 2

= |UITSCHAKELEN (GEBRUIK "X")

~ [LENGTEINCM 208 | 85 | 36 | 142 34 | 127| 283|140 62 | 228 | 229/ 276

2  |PUNTEN 5 9|11 6 12 8| 1| 710 4| 3| 2

= |UITSCHAKELEN (GEBRUIK "X")

0  [LENGTEINCM 373 | 152| 46 | 82 | 93 | 153| 218|215 13 | 243 | 347 680

2  [PUNTEN 2 8 |11|10 9 7|5 6|12 43| 1

= |UITSCHAKELEN (GEBRUIK "X")

o |LENGTEINCM 155 | 51| 0 | 23 [NAW 68 | 89 | 33 | 72 | 33 | 48 | 104

2  [PUNTEN 16 15(10|18/ 5 3|9/ 4 8 | 7| 2

= |UITSCHAKELEN (GEBRUIK "X")

=  [LENGTEINCM 90 | o o 31| o] 32| 11|NAW 0 | 44 |[NAW| 99

2  [PUNTEN 2 (11|11 5 11 4| 6 |18 11| 3 [11| 1

= |UITSCHAKELEN (GEBRUIK "X")

= [LENGTEINCM 40 | 56 |[NAW 39 |[NAW| 43 | 71 | 182 | NAW| 45 | 98 | NAW

2  [PUNTEN 7 4|11 8|11 6|3| 1 115|211

= |UITSCHAKELEN (GEBRUIK "X")

S [LENGTEINCM 188 | 66 | 29 | 112| 36 |NAW| 164 | 127| 0 | 125 | 157 299

2  [PUNTEN 2 8|10 79 18|35 15| 6 | 4] 1

= |UITSCHAKELEN (GEBRUIK "X")

= [LENGTEINCM 203 | 95 | 22| 73 INAW/| 86 | 343|143| 0 | 227 | 131] 360

2  [PUNTEN 3 7|10 918 8| 2|5 15| 4 |6]| 1

= |UITSCHAKELEN (GEBRUIK "X")

S [LENGTEINCM

2  |PUNTEN

= |UITSCHAKELEN (GEBRUIK "X")

< [LENGTEINCM

2  |PUNTEN

= |UITSCHAKELEN (GEBRUIK "X")

= [LENGTEINCM

2 |punTEN

= |UITSCHAKELEN (GEBRUIK "X")

= LENGTE IN CM

2 |punTEN

= |UITSCHAKELEN (GEBRUIK "X")

S [LENGTEINCM

2  |PUNTEN

= |UITSCHAKELEN (GEBRUIK "X")

PLAATS
TOTAAL PUNTEN



